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Sub questions

Question Number : 1 Question Id : 6863404446 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U e 1 99 Biforg:

1. APTHAT 3R TS
2. G¥pld & dard
3. PTG SR SR Wit
4. TEpid MR UTS

Options :

68634017601. 1

68634017602. 2

68634017603. 3

68634017604. 4

Question Number : 2 Question Id : 6863404447 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T SR & U 3/awas ©-
1. fcaRIett T
2. Yl d-
3. 9% Tifgw &1 FHET0

4. AoHITd® - @Al

Options :

68634017605. 1
68634017606. 2
68634017607. 3
68634017608. 4



Question Number : 3 Question Id : 6863404448 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIrfer &1 fas Jagu|
1. gy
2. G
3. forar
4. ddA
Options :
68634017609. 1
68634017610. 2
68634017611. 3

68634017612. 4

Question Number : 4 Question Id : 6863404449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YT ST o forg Yl B1a) o1 o divTer -
1. e e
TN &1 GHE UaT B
. R XAl

4, HIHTA BT AT ST

[ ]

LS ]

Options :

68634017613. 1
68634017614. 2
68634017615. 3
68634017616. 4

Question Number : 5 Question Id : 6863404450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634017617. 1
68634017618. 2
68634017619. 3
68634017620. 4

Question Id : 6863404445 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863404446 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U XYe &1 994 B
1. APTFAT 3R TS
2. TEpid & aaTd
3. AP SR SR S=pi
4. GEHTA AR TS
Options :
68634017601. 1
68634017602. 2

68634017603. 3
68634017604. 4

Question Number : 2 Question Id : 6863404447 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017605. 1
68634017606. 2
68634017607. 3
68634017608. 4
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Question Number : 3 Question Id : 6863404448 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIFfer &1 e Sagu|
L gy
2. Gl
3. 313]
4. g
Options :
68634017609. 1
68634017610. 2
68634017611. 3

68634017612. 4

Question Number : 4 Question Id : 6863404449 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017613. 1
68634017614. 2
68634017615. 3



68634017616. 4

Question Number : 5 Question Id : 6863404450 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tepfd & oy o Hgayul 8-
1. daHl
TSI
fram

[

L)

4. Udhdl

Options :

68634017617. 1
68634017618. 2
68634017619. 3
68634017620. 4

Sub-Section Number : 2
Sub-Section Id : 686340134
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863404451 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. 2
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1. $dAA.C.E
2. PddA.D.E

3. %ddB.C.D
4. $dAC.D.E

Options :

68634017621. 1
68634017622.2
68634017623. 3



68634017624. 4

Question Number : 6 Question Id : 6863404451 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

570 Y BH-HH I Yeg T T} & yafgard! g

A, YRt

B. g8
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D. Ul

E. STg-dt
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3. %9dB.C.D
4. $dAC.D.E

Options :

68634017621. 1
68634017622. 2
68634017623. 3
68634017624. 4

Question Number : 7 Question Id : 6863404452 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017625. 1
68634017626. 2
68634017627. 3
68634017628. 4

Question Number : 7 Question Id : 6863404452 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017625. 1
68634017626. 2
68634017627. 3
68634017628. 4

Question Number : 8 Question Id : 6863404453 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fergug afed. SR s R doH- e ol

1. =g

 IRBT

. &TeT
4. el

Options :

68634017629. 1

68634017630. 2

68634017631.3
68634017632. 4
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Question Number : 8 Question Id : 6863404453 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Aer= 9u § dfdd. 3R G 1 fpe d dH- W g B

1. 9T
. OR&T

I8l
4.4l

Options :

68634017629. 1
68634017630. 2
68634017631. 3
68634017632. 4
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Question Number : 9 Question Id : 6863404454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T ¥ T oF- ©F 91 999 JWER 3T 331830 -

A. TP B d Il - HEehdl DY
B. d1% dg @I ddd ol
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1. Pdd A, C.D
2. $9A A B.E
3. $gdE.D.B

4. PGAB.E. C

Options :

68634017633. 1
68634017634. 2
68634017635.3
68634017636. 4

Question Number : 9 Question Id : 6863404454 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017633. 1
68634017634. 2
68634017635.3
68634017636. 4

Question Number : 10 Question Id : 6863404455 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T5H & JHF Yiaa g 7 =i s g
1. fepa
RGT e
3. fogmmy
4. fowante diye

Options :

68634017637. 1
68634017638. 2
68634017639. 3
68634017640. 4

| ]

Question Number : 10 Question Id : 6863404455 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. T
2. a9
3. fa=mor
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Options :

68634017637. 1
68634017638. 2
68634017639. 3
68634017640. 4

Question Number : 11 Question Id : 6863404456 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et T 9= 6.25% A1t P12 T 4 a9 T FIeMR0T &O1S 2 3200 A1 8 1 AR FT8?

1. 313000

| S

. 312800
3.212500
4. 212000
Options :
68634017641. 1
68634017642. 2

68634017643. 3
68634017644. 4

Question Number : 11 Question Id : 6863404456 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forail TR UR 6.25% AT B &3 T 4 98 & JIYRUT 4TS 2 3200 AT 1 AT FT 82
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Options :

68634017641. 1

68634017642. 2
68634017643.3



68634017644. 4

Question Number : 12 Question Id : 6863404457 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017645. 1
68634017646. 2
68634017647.3
68634017648. 4

Question Number : 12 Question Id : 6863404457 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017645. 1
68634017646. 2
68634017647. 3
68634017648. 4

Question Number : 13 Question Id : 6863404458 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017649. 1
68634017650. 2
68634017651. 3
68634017652. 4

Question Number : 13 Question Id : 6863404458 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017649. 1
68634017650. 2
68634017651. 3
68634017652. 4

Question Number : 14 Question Id : 6863404459 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017653. 1
68634017654. 2
68634017655.3
68634017656. 4

Question Number : 14 Question Id : 6863404459 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017653. 1
68634017654.2
68634017655. 3
68634017656. 4

Question Number : 15 Question Id : 6863404460 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14em &1 U QGHEGTIT 90, Sem BT a1l T1icd & SaFid @41 . dl 9@ &l H1EaH (em® ) §: 7 :2_;
1.110
2,220
3.440
4. 600

Options :



68634017657. 1
68634017658. 2
68634017659. 3
68634017660. 4

Question Number : 15 Question Id : 6863404460 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14em &1 U QGHEGTIT 90, Sem BT a1l T1icd & SaFid @41 . dl 9@ &l H1EaH (em® ) §: 7 :2_;
1.110
2,220
3.440
4. 600
Options :

68634017657. 1
68634017658. 2
68634017659. 3
68634017660. 4

Question Number : 16 Question Id : 6863404461 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017661. 1
68634017662. 2
68634017663. 3
68634017664. 4

Question Number : 16 Question Id : 6863404461 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017661. 1
68634017662. 2
68634017663. 3
68634017664. 4

Question Number : 17 Question Id : 6863404462 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634017667. 3
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Question Number : 17 Question Id : 6863404462 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634017665. 1
68634017666. 2

68634017667. 3
68634017668. 4
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Question Number : 18 Question Id : 6863404463 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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11,20,38.74  ?
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Options :

68634017669. 1
68634017670. 2
68634017671. 3
68634017672. 4

Question Number : 18 Question Id : 6863404463 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y YD o I U= T 1] 1802
11, 20, 38, 74 2
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| ]
ok
L
e

4. 136

Options :

68634017669.
68634017670.
68634017671.
68634017672.
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Question Number : 19 Question Id : 6863404464 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017673. 1
68634017674. 2
68634017675.3
68634017676. 4



Question Number : 19 Question Id : 6863404464 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017673. 1
68634017674. 2
68634017675. 3
68634017676. 4

Question Number : 20 Question Id : 6863404465 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017677. 1
68634017678. 2
68634017679. 3
68634017680. 4

Question Number : 20 Question Id : 6863404465 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634017677. 1
68634017678. 2
68634017679. 3
68634017680. 4

Question Number : 21 Question Id : 6863404466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1Y 11 e Sy

R 1 (0 TRy U0 &R 1 A1) [ 1 (94T 8 TR
A [gsli g 3w L [o9 B/

B. |2 s e 1. [anfed 3R fRyeor
C. |9 Te=TH WHDI I11. [f&fdet &t

D. [sH< [&lUH Yad IV, [l

fafafad fasedi & ¥ 981 3tk &1 99 HIfe :

1. A-I. B-III. C-IV. D-II
2. A-IV, B-1, C-III. D-IT
3. A-IV. B-I, C-II. D-III
4. A-I. B-IV. C-II. D-III

Options :

68634017681. 1
68634017682. 2
68634017683. 3
68634017684. 4

Question Number : 21 Question Id : 6863404466 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=it 1 1 =1 11 9 [ Sy

R 1 (031 {9401 Q¥R 1 1) [{=1 1 (HaT 8 P
A [gsii gy am L [oF &/

B. [t s g 1. [ared SR e
C. |oht Tsi=aE wWHET Il BIEEES]]

D. [ fafuq wad V. [@al

FafaRed fowedi § 1 9! 3R &1 994 Sifoe

1. A-I. B-III. C-IV. D-II

| S

ATV, B-ILL C-IT1. D-TT
3. A-TV. B-1. C-11. D-III
4. A-I. B-IV, C-II. D-III

Options :

68634017681. 1

68634017682. 2

68634017683. 3
68634017684. 4

Question Number : 22 Question Id : 6863404467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'HRIYE edIse & AT &1 aRiE

1. 79, 1979
.19 3{UT. 1975

| ]

3. 19 9. 1953
4,07 3{Ud. 1981

Options :

68634017685. 1
68634017686. 2
68634017687. 3
68634017688. 4

Question Number : 22 Question Id : 6863404467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'SHYZ YTAISe & YU B aRiE

1.7, 1979
.19 3T, 1975

[ ]

3. 19 G, 1953
4. 07 3T, 1981

Options :

68634017685. 1
68634017686. 2
68634017687. 3
68634017688. 4

Question Number : 23 Question Id : 6863404468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R P R E:
FHYA 1. i e & &R aFd IR & Bhe pyfad sid &
&Y 11 T [euRl & R AHa IRR & Bs i quifad gid g1
SWRIdd ®YF & 3Male . A4 f4u Tt faweul & I Fel 3o &1 99 Difw:

| FHE AR S Ol &
2. BYA T AR 11 3T Ted &
3. PUTI Tl 8. AT U 1 TTad &

4. FYT 1T B, AfPT FUT I TR &

Options :

68634017689. 1
68634017690. 2
68634017691. 3
68634017692. 4

Question Number : 23 Question Id : 6863404468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I & By AU B

YA 1. i 9o & SR I IR & e pyfad sid &

FHYA 11: fefar faadt & R aFe IR & Bee i yyifad g9 2
SWRIT PYF & 3Maled . A1 f4U T fasmei & T el IR &1 99 DIfoT:

1. PYF IR I SH T8l §
2. BYA T 3R 11 3T Teid &
3. HFUT 1Tl 8. AP U 11 7Tad &

4. BYT 1 TTAd &, AT YT I Tl &

Options :

68634017689. 1
68634017690. 2
68634017691. 3
68634017692. 4

Question Number : 24 Question Id : 6863404469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qrygIe Yar feaw g fam mmar S &2
1. 12 A"

.24

3.18T%

4.20 39

Options :

68634017693. 1
68634017694. 2
68634017695. 3
68634017696. 4

| 5]

Question Number : 24 Question Id : 6863404469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy 941 feag feg i mam srar g2

1. 129

| 5]

.24 5
31878
4. 20 30

Options :

68634017693. 1
68634017694. 2
68634017695. 3
68634017696. 4

Question Number : 25 Question Id : 6863404470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. %%ﬁ%ﬁrﬁ? 3TN = Wieh T & FEfiGaR] BT aaar Ufaufd AR 210,000 F 25,000 §E HH @1
B.;}H?Hﬁuzgiﬂ%‘rlr SRR = fay Iy & Iufigar] & adam ufdufd M 25,000 F 7 15,000 3E T4
C. I AN & STIR Sl IHGAR 99 HAa™ 1 1/6 7d U 7 81 TR d FH1a 3 Hidt 11l ARIBR
D.%ﬁﬁiﬂ&wﬁaﬁq 3Rl Wg-gdl ¢ fore wiar $iR fep! Wi @gd 6

[

4 fau e faoeul & ¥ 99 Sugad IR &1 94 DI
1. $ad A 3R B
2.%ad A, C 3RD
3.9ad A, B3R C
4.%ad A.B.C 3RD

Options :

68634017697. 1
68634017698. 2
68634017699. 3
68634017700. 4

Question Number : 25 Question Id : 6863404470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. %%ﬁ%ﬂrﬂ:{ SRINT 3 iep FUT & FHHIGaR] &1 aaa e 1R 210,000 T 25,000 TE T BT
B. ;}ﬂ?ﬂﬁi%ﬁﬂ; SRINT A fa o= T4 & SrlIar] &1 s Wiayfd 225,000 ¥ < 15,000 3E TA
C. I AN & AR Sl SHIGIR 99 HAGH I 1/6 Hd U 7 81 TR d FH1a 3 Ufel il AR TR
D.mﬁmin&wﬁa?ﬂ:r SR TU-T1 & fore WieR 3R fSP Wi ed 5

1< fau 1 faeedl & 9§ 9ad Sugad IR BT 99 DI
1.%ad A 3R B
2.%ad A, C R D
3.9 A.B3RC
4.$ad A,B.C 3RD

Options :

68634017697. 1
68634017698. 2
68634017699. 3
68634017700. 4

Part B: Mathematics

Section Id : 68634090
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340135
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863404471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let U and ¥ are distinet 4-dimensional subspaces of a vector space 7 of dimension 6. Consider the following
statements:

A, The dimension of U [ ¥ is either 2 or 3.
B. The dimension of [+ ¥ is either 5 or 6.
C. The dimension of U ' W is always greater than 4.
D. The dimension of U + W is always greater than 4.

Choose the correct answer from the options given below:

1. A. B and D only

[ B

.A. B and C only
3.B.Cand D only
4. C and D only

Options :

68634017701. 1
68634017702. 2
68634017703. 3
68634017704. 4

Question Number : 26 Question Id : 6863404471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A b U w faHT 6 & afew gy 7o e Iqiie Sueams 81 Frafaiad $u @1 foar S

Avnwotfamara2ars gl
B. U+ Wl [gmards a6 gl
c.unwol famgdgs T AT gl
D. U+ Wl famadg 4 3 sfF 2l

4 feu T ot & ¥ T61 SR &1 904 B
1.$ad A. B R D
2. PAAA. B3R C
3.%dd B, C R D
4.%ad C 3R D

Options :

68634017701. 1
68634017702. 2
68634017703. 3
68634017704. 4

Question Number : 27 Question Id : 6863404472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o
The positive term series Z — is convergent if
n=117

1.p=0
2.p>1
J.p<l
4.p=1

Options :

68634017705. 1
68634017706. 2
68634017707. 3
68634017708. 4

Question Number : 27 Question Id : 6863404472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT TR A A Y L siftraia &, ok

o
1.p>=0
2.p>1
J.p<l
4p=1

Options :

68634017705. 1
68634017706. 2
68634017707. 3
68634017708. 4

Question Number : 28 Question Id : 6863404473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following set(s) is/are convex set(s)?

A{xy:xy £1,x>0,y>0}
B. {(x ¥): 2 =3>—32.x y= 0}
C.{(x)):)* <4x,x20,y>0}
D. {(x, ¥ x> +y* <4}

Choose the most appropriate answer from the options given below:
1. Aand B only
2. Aand C only
3.Band C only

4. C and D only

Options :

68634017709. 1
68634017710.2
68634017711. 3
68634017712. 4

Question Number : 28 Question Id : 6863404473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafeRad gyl § 8 ®F F91/E I (@ Hded) 9= 7

{xy)xy £1,x>0,y>0}
{0 1) 23>y xy>
{(x, »): J: Sy, x=0, =0
{Co ) x*+y7 <4
i f4U 7T fasedl & T el STk &1 994 Hifolg:
1. Hdd A 3R B
2. FAdA AR C
3. HaAB AR C

4. %ad C AR D

Options :

68634017709. 1
68634017710. 2
68634017711.3
68634017712. 4

OSnwp

Question Number : 29 Question Id : 6863404474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The solution of the Linear Programming Problem
maximize Z = 107x + v

subject to constraints x +y = 2

—3x+y=3
x.y=0is
1.0
2.2
3.4

4. No solution

Options :

68634017713. 1
68634017714. 2
68634017715.3
68634017716. 4

Question Number : 29 Question Id : 6863404474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RGP T gHEI

Z = 107x +y B1 Sffaarieu g saul & siafd
x+y<2

3x+y>3

XV = OWW%?

wd
[ ]

3.4

. PIS g Aol

Options :

686340177131
68634017714.2
68634017715. 3
68634017716. 4

e

Question Number : 30 Question Id : 6863404475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1.
is
|2

The natural domain of definition of the function f(z)=

1. whole complex plane

2=1.

| ]

. . . . . . b
. whole complex plane excluding the points which lie on the unit circle x= +3

3. complex plane excluding the pomt z =0.

4. whole complex plane excluding the point z = %

Options :

68634017717. 1
68634017718. 2
68634017719.3
68634017720. 4

Question Number : 30 Question Id : 6863404475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T £ (2) = — : 1 TR I e wia &:

1. Ul SiETy ad

2. 5Dl gu +2 +)? = 1 W YT fgail & sifafed vt afdy 7o
3. f8g 2 = 0 P affafvaa gfdy aa

4. T ::% & ifafved wogof afity qa

Options :

68634017717. 1
68634017718. 2
68634017719. 3
68634017720. 4

Question Number : 31 Question Id : 6863404476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For what value(s) of k the set of vectors {(1. k& 5). (1. -3.2). (2. -1. 1)} form a basis in R3?

1. k#ﬁ
2. k=-8
3.k+£8
4. k£-8
Options :

68634017721. 1
68634017722.2
68634017723.3
68634017724. 4

Question Number : 31 Question Id : 6863404476 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

k@ forg O & oy I T 9g= {(1. & 5), (1. -3. 2). (2.—1. 1)}. B &1 U aRR (3M1YR) F1a1 57

Il
2.k=-8
3.k#8
4. k+-8
Options :

68634017721. 1
68634017722.2
68634017723.3
68634017724. 4

Question Number : 32 Question Id : 6863404477 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dz g
Evaluate the integral (ﬁﬁ C:lz—i|=2
R (: +4)

Options :

68634017725. 1
68634017726. 2
68634017727.3
68634017728. 4

Question Number : 32 Question Id : 6863404477 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS f—E—. Cilz=i|=2 &1 T J1d ST
r'("2+4)L

!.J
J
=N

Options :

68634017725. 1
68634017726.2
68634017727. 3
68634017728. 4

Question Number : 33 Question Id : 6863404478 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



5 g5 8
The area bounded by the curves y=x"and y =4 —x~ is

| ]

Options :

68634017729.
68634017730.
68634017731.
68634017732.

AW~

Question Number : 33 Question Id : 6863404478 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Thly=x2 AU y=4— 2R &7 T &Ahd §

1. ]t“'\E

3

)16

3
;. 16n

3

" 8
3

Options :

68634017729. 1
68634017730. 2
68634017731.3
68634017732. 4

Question Number : 34 Question Id : 6863404479 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is a cyclic group?

1. The set of non-zero square matrices of order 2 * 2 over 7 under matrix multiplication

2. The group of roots (real or complex) of the equation x” — 1 = 0. where 7 is a natural number

%)

. The group (Q / { U} of non-zero rationals under multiplication

4. The group (} of rationals under addition

Options :

68634017733. 1
68634017734.2
68634017735.3
68634017736. 4

Question Number : 34 Question Id : 6863404479 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[rafaad o ¥ &1 91 9%y 91E
1. 30U & T[UF & Sfaia = OR GRS B 2 « 2 & IR I 3Mode] & =g
. HHIBRU " — 1 = 0, W6l n Ueb Wi H¥AT 5. & Hall (ARldd Ual Hity) &1 94g

[ B

L)

TR iy gEmsd @ / {0} BTIUE & Sidid 998
4. gicE d@iell (¢ &1 9 & Sidiid 98

Options :

68634017733. 1
68634017734.2
68634017735. 3
68634017736. 4

Question Number : 35 Question Id : 6863404480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M P A

A scalar potential Y has the gradient defined as Y\ = yz i + Xz j + xy k. The value of the integral

. —* A A A
J‘(VL[J -d ¥ onthe curve :xf+'1=j+ zk. wherecurve Cix=t.y=tz=3r"(1=2t<3)is:

[
—

3.242

4. 726



Options :

68634017737. 1
68634017738.2
68634017739. 3
68634017740. 4

Question Number : 35 Question Id : 6863404480 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U@ G fAUT Y &1 Haurdl 39 WeR 9RyNa 8 vy = yz?‘ +.rz}'+ .qufé.amw:r

. — ” A A - P b =
J}\V‘P-dr DIUFA. TP r =xi+yj+zk WAGTAPC:x=t,y=~z=32(1<t<3) &

b
—

3.242
4. 726

Options :

68634017737.
68634017738.
68634017739.
68634017740.

AW N —

Question Number : 36 Question Id : 6863404481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The work done by the force F=(x* - Jrl] i+(x+y)/ in moving a particle along the closed path C containing

i 5 . = ~ .
the curves x + y =0, x" +y" =16 and y = x in the first and fourth quadrant is

h

2 .
1. == umits

"

o
2. 527+ 94 units
3.52n— 96 units
4, 967 — 52 units

Options :

68634017741. 1
68634017742.2
68634017743. 3
68634017744. 4

Question Number : 36 Question Id : 6863404481 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T F=(x* =57} i+ (x+y) | FRITD B DI g 9 ForeH ap
x+y=0,x2 + > =16 AUy = x, YUH IR Iqd gl & 9ftifea 8. & wr 1foqH 367 & o o m o §
2 gord

a3
o

2. 520+ 94 THG
3.52n—96 S5
4. 06— 52 SBIg

Options :

68634017741. 1
68634017742.2
68634017743. 3
68634017744. 4

th

Question Number : 37 Question Id : 6863404482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

—* A ES M
The line integral }" = R 2y j+ 22 k over the straight line path from the point (-1, 2, 3) to (2, 3, 5) is

27
15

| ]

Options :

68634017745.
68634017746.
68634017747.
68634017748.

AW N =

Question Number : 37 Question Id : 6863404482 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Vooxtioay)e 2k 1O W@ 0Y R dg (1, 2, 3) T (2, 3, 5) T @1 GHIGH &1 A §

Options :

68634017745.
68634017746.
68634017747.
68634017748.

AW N —

Question Number : 38 Question Id : 6863404483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e = s =
Let 7 be a vector field and fbe a sealar point function. then

—3
curl {f° V') is equivalent to

i

: [g?'ad_f']--i-";+_f'dfr(;]

A — . e
= (grad f)xV + f curl (V)

LF¥)

(grad f)- [dr'v I_’}] + curl {c:m’ ;}

— —»
4 grad [div V] - f curl (V)

Options :

68634017749. 1
68634017750. 2
68634017751. 3
68634017752. 4

Question Number : 38 Question Id : 6863404483 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIHI i*Wﬁﬁ‘{[é&H% ﬁ?f@ﬂﬁﬂﬁgw%ﬂﬁ curl (f f_;) W%’

-}

N\ grad f)- v+ £ dh-(l«’J

—_

[ ]

(grad f}x? + [ curl (?)

Laa

(grad 1) (cﬁv V] + curl [c'im' V]

— e
4. grad [div V]— f curl (V)

Options :

68634017749. 1
68634017750. 2
68634017751. 3
68634017752. 4

Question Number : 39 Question Id : 6863404484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . ~ > 7 % .
Let S be a piecewise smooth surface of the sphere x“+ y* + z= = 16, z > 0, bounded by a simple closed curve

— A s A . :
A A ) . ; 2 5 : :
C.Let 4 [ Ty — }J_) : 2}}3_ ; 2};_ oy be a vector field which is continuous and has continuous

e A A
first order partial derivatives in a domain which contains 5. Then the value of _U(V x V').ndA, where 1 is
Wy
the unit normal vector to 5 is:

16

1
2.48n—3
364+ 3n
4. 16n
Options :

68634017753. 1
68634017754.2
68634017755. 3
68634017756. 4

Question Number : 39 Question Id : 6863404484 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a

M S A 2+ 2 + 22 = 16, 2 > 0 BT o9 a1 gy & o & IR dad b ¢ gRIuRas g1 91
V =(3x—y)§ —2yz2 [ -2y h U SRR & QS o e ¢ Fur s H ofcifdy Hid 7 ¥ s pife

@ iR fade ol dd jj_'n-’x?z.iéd-i. Wl 1. SR SHIS AUAd 8. PTAH &

16

3.64+3n

4. 16m

Options :

68634017753. 1
68634017754.2
68634017755. 3
68634017756. 4

Question Number : 40 Question Id : 6863404485 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The all values of z. such that

‘E sinz = coshf} + isin#i p - where P 1s real, are

Lz=@ee)Fe (1) (Fo) 0L
%

[ ]

(3
. Z=Hm- {--]]H| i—T-I sBJ.n=U,i1,i2, .......
\

LIS

'
. Z=HT +(—1}” | g*—fﬁ}.ﬂ =0,+1,+2........
.

4 z=(2n+ ljg—+(—1)”[g+ ;ﬁ],n =0, £1,£2,......
.

Options :

68634017757. 1
68634017758. 2
68634017759. 3
68634017760. 4

Question Number : 40 Question Id : 6863404485 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



z & Ul 9. &Tel V2 sinz = coshf + isinh f . ﬁ@ﬁﬂ'ﬂﬁﬁm%%-

i %

1. z=(2n4 |]% # |}”|\§ | r]'i.J. n=0,£1+2,.....

.fq' A
2; _'—.IT:T-—{-—]]H: '—_;E*:]i =041 42,

" 'Jﬂ b
3. z=m+(-1) \—4-+.']3|.n=ll.-|_-l.i-2.,,,..,.

\ J
] L
4. z=(2n+1)z+(-1)" | +B [,n=0,£1,£2,.......
Options :

68634017757. 1
68634017758. 2
68634017759. 3
68634017760. 4

Question Number : 41 Question Id : 6863404486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The solution of the differential equation
{x* + 6x2 + 2(x+)} dx — xdy=0

subject to the condition ¥(1) =0 is

L 2y(x)= xZ +x? (6 log|x| - 3) +4x

| ]

y(x)= %[xz st {l 2log|x| + 3] + 4,\}
3. y(x)=x* + 52 (12 log|x| +3) - 4x

4. 2p(x)=x* +x? (12 log|x|+3) - 4x

Options :

68634017761. 1
68634017762. 2
68634017763. 3
68634017764. 4

Question Number : 41 Question Id : 6863404486 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HTHA THIBII (1 + 622 + 2(x+y)} dx — xdy=0, 5 b Ufqde 1(1) = 0 & I 8. 18 &

L 2y(x)= x4 xt (6log|x| - 3)+4x

2

| B}

vlx)= L.r: +x*(12 log|x|+3)+4x !

3. ylx)= x4 4-.1'3{12 Iug|.\'|+- 3)-4x
4. 2y(x) =x* + 2% (12 log|x] +3) — 4x
Options :
68634017761. 1
68634017762. 2

68634017763.3
68634017764. 4

Question Number : 42 Question Id : 6863404487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statement is not correct?

1. If 4 and B are non-singular matrices. then (4F) is also a non-singular matrix.

b2

If AB = AC and A is non-singular matrix. then B =C.
3. The inverse of a non-singular symmetric matrix is also a symmetric matrix.
4. If A and B are symmnetric matrices, then (4B — BA4) is not a skew-symmetric matrix.
Options :
68634017765. 1
68634017766. 2

68634017767. 3
68634017768. 4

Question Number : 42 Question Id : 6863404487 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad o 9o 9 oyF 9ol 78l 82
1. 91& 4 3R B FIHHONT TE © o (4B) 1l U chHIY 3TE & |

2. Ufd 4B = AC 3R A U gepUig AHg e dl B=C
3. U geh AT FAMT Sogg &1 ogohd i U JHiid 3o 5/l ¢
4.9 4 3R p 9O 3108 8. Ol (4B — B4) U [q99 FHAT To0g 751 o |

Options :
68634017765. 1



68634017766. 2
68634017767. 3
68634017768. 4

Question Number : 43 Question Id : 6863404488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let 4 and B be 2 = 2 matrices, then which of the following is correct?

—_

. det(A4 + B) + det(4 — B) = 2 det(A) + 2 det(B)

[ ]

. det(4 + B) + det(4 — B) = det(4) + det(B)

Laa

. det(4d + B) + det(4 — B) = det(4) — det(B)

e

. det(A4 + B) + det(4 — B) = 2 det(4) — 2 det(B)

Options :

68634017769. 1
68634017770. 2
68634017771. 3
68634017772. 4

Question Number : 43 Question Id : 6863404488 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M i 4 3R B, 2 « 2 & SHTAE § dl FEfiREd I 9 &7 |1 98l o2

. det(A4 + B) + det(4 — B) = 2 det(A) + 2 det(B)

—

| S

. det(A + B) + det(4 — B) = det(4) + det(B)

L

 det(4 + B) + det(4 — B) = det(4) — det(B)

o

. det(A4 + B) + det(4 — B) = 2 det(A4) — 2 det(B)

Options :

68634017769. 1
68634017770. 2
68634017771.3
68634017772. 4

Question Number : 44 Question Id : 6863404489 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. x, if x is a rational number , , ,
Let f(x) be defined on [0, 3] by f(x) =- . o Then f(x) is continuous in the
s 13 — x,if x is an irational number

interval at:

1. no point

[ )

. all points
3. 2 points
4. one point
Options :
68634017773. 1
68634017774. 2

68634017775.3
68634017776. 4

Question Number : 44 Question Id : 6863404489 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R )= [ x,ul2xis vs afdg ST &
: (x}_{sﬂx,uﬁxw-amﬁﬁum% :

B
1. fopet féig wR 1el
2. g4t figai o
3. alfdgai w
4. TH g

[0. 3] 9% URYITNG B, 98 o £(x) siawa & dda

Options :

68634017773. 1
68634017774.2
68634017775. 3
68634017776. 4

Question Number : 45 Question Id : 6863404490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If 4 1s symmetric real valued matrix of dimension 2022, then eigenvalues of 4 are

1. 1011 distinct pairs of complex conjugate numbers

[

. 1011 pairs of complex conjugate numbers not necessarily distinet
3. 2022 distinet real values
4. 2022 real values not necessarily distinct

Options :

68634017777. 1
68634017778. 2
68634017779. 3
68634017780. 4

Question Number : 45 Question Id : 6863404490 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
¢ 4 aRaiae SEsl &1 U 9aiid STog o. forae! [amr 2022 8. 1.4 & Sif¥yenafoe aF &
1. gty Syl Searsdi & 1011 i gm
2. Gty Sl SEmed & 1011 g, sfard =0 3 fig =g
3. 2022 T8 gRafd® AF
4. 2022 TTEdlae AT, f-ari =9 4 i =gt
Options :
eI,

68634017779. 3
68634017780. 4

Question Number : 46 Question Id : 6863404491 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following rings is an integral domain?

1. Z100
2 %10
3. %113
4. 2153
Options :

68634017781. 1
68634017782. 2
68634017783.3



68634017784. 4

Question Number : 46 Question Id : 6863404491 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafalad & S o1 W aey e G SiaF g 82

17 4
2. 2102
3. 2113
4. 2153

Options :

68634017781. 1
68634017782. 2
68634017783.3
68634017784. 4

Question Number : 47 Question Id : 6863404492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Letf: G — H be a group homomorphism from group G into group H with kernel K. If the order of G. H and K
are 50, 25 and 10 regpectively then the order of f(G) iz

1.2

4. 25

Options :

68634017785. 1
68634017786. 2
68634017787. 3
68634017788. 4

Question Number : 47 Question Id : 6863404492 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AEIf: G — H ¥ K & WY T8 ¢ ¥ 948 H 0 998 YR 81 318 6. H aUI K $I DI HH: 50, 25
Ul 10 B 09 £(G) T BIfC B-

1.2

[
v

4. 25
Options :
68634017785. 1
68634017786. 2

68634017787. 3
68634017788. 4

Question Number : 48 Question Id : 6863404493 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The equation (2x + y+ 1) dx + (x + 2y + 1) dy = 0 represents a family of:
1. circles
2. parabolas
3. ellipses
4. hyperbolas

Options :

68634017789. 1
68634017790. 2
68634017791.3
68634017792. 4

Question Number : 48 Question Id : 6863404493 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BT (2 + + 1) di + (x + 2y + 1) dy = 0 U URGR <2l &:
1. gull T
. TR BT
 &Teladl &1
4. HfdRaad] $1
Options :

68634017789. 1
68634017790. 2

[ ]

LS ]



68634017791. 3
68634017792. 4

Question Number : 49 Question Id : 6863404494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The value of surface integral JJ-S (9xi —2y j—zk )-ndS over the surface S of the sphere x* + 7 + z° = 9 where

£y
#1 1s the unit outward normal to surface element 45 is:

24

1: TTI

216
=

3

b2

3. 216w
4. 24

Options :

68634017793. 1
68634017794.2
68634017795. 3
68634017796. 4

Question Number : 49 Question Id : 6863404494 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEYT THIBE [] (97 -29 -2k )-nds DT 2 +32 + 22 = 9 & J¥ S WA, W1 » JHIT 37 ds R 5PTg
9 9, &

24
1. T.’l’

2

R

216
g

3. 216x
4, 247

Options :

68634017793. 1
68634017794.2
68634017795. 3
68634017796. 4

Question Number : 50 Question Id : 6863404495 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. . . i . . . . . g 7
The line integral of function g — - ; . in the counter clockwise direction. along the cirelex*+y*=latz=1

18

[
J
e

4, 2n

Options :

68634017797. 1
68634017798. 2
68634017799. 3
68634017800. 4

Question Number : 50 Question Id : 6863404495 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BT = y=) PIAHEG GRITH G2 + 2 = 1D Y 2 = 1 RGN GHHI &

1.2n

']
|
=

4. 2n

Options :

68634017797. 1
68634017798. 2
68634017799. 3
68634017800. 4

Question Number : 51 Question Id : 6863404496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 M, M M

>
If p = X a-"'l +_’£'2 0_1.2 + X5 a"'-?: and | r

= . then div(.i"z V{In J}] 18

—
o

| B
-

4, 1°

Options :
68634017801. 1



68634017802. 2
68634017803. 3
68634017804. 4

Question Number : 51 Question Id : 6863404496 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- A A A 3 ; 1
afg ro=x aII +,r2 GIZ +x3 ng ‘313|T |I'|=r' %ﬁ div|r= V(In "J} %1

L]
L

5
4. r°

Options :

68634017801. 1
68634017802. 2
68634017803. 3
68634017804. 4

Question Number : 52 Question Id : 6863404497 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The area of surface of solid generated by the revolution of line segment y = 2x from x =0 to x = 2 about x-axis
i equal to:

L 15

2m5
475
4. 815

Options :

68634017805. 1
68634017806. 2
68634017807. 3
68634017808. 4

| B

T

Question Number : 52 Question Id : 6863404497 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GIEUS y = 2x Bl x =0 Y x = 2 TP x-34& & WU HH I & 31 & ¥ &I 87950 TR o
L /5

2n5

4n 5

RING

Options :

68634017805. 1
68634017806. 2
68634017807. 3
68634017808. 4

| ]

L)

e

Question Number : 53 Question Id : 6863404498 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(211, o 5
_[ | == |dx |dv, we make the substitution u =

Ik.-a

snd v==2 . The

=Y

To evaluate the double integral _F:

2

mntegral will reduce to

—

4 o2 3
i j [ I 2udu | dv
040 /

| B

. J““[ J‘[: 2udu _. av

L¥N]

: j:[ Llllr.rfu ] dv
4, j: : J: : 2udu dv

Options :

68634017809. 1
68634017810. 2
68634017811. 3
68634017812. 4

Question Number : 53 Question Id : 6863404498 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(/2

SIeR FHHT |

Y

Y |u’1JLi’1 Wﬂﬁmmﬁ$mﬁﬂ H=-

- N
R

THIG A S aidid gH:

[

4 #2 Y
! J | J 2udu | dv
0 S0 J

[ )

: J“[ J-r:. 2udu | dv

L 5]

()

=N

; j...i : I:I 2ueclu dv

Options :

68634017809. 1
68634017810. 2
68634017811. 3
68634017812. 4

Question Number : 54 Question Id : 6863404499 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1+e(z) , .

z

1+
If q)( } =Cytc 2z . then (j.)|z|_|

1. 2mey

b2

2n(1 + ep)
3. Zmie
4. 2mi(1 + ¢p)

Options :

68634017813. 1
68634017814. 2
68634017815.3
68634017816. 4

Question Number : 54 Question Id : 6863404499 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afg 0(z)=cy+¢ z! % dd 'f:|:|_|mu’: %

1. 2meg

[ ]

2a(1 +¢p)
3. 2miey
4. 2mi(1 + ¢g)

Options :

68634017813. 1
68634017814.2
68634017815. 3
68634017816. 4

Question Number : 55 Question Id : 6863404500 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If P(x) is a polynomial of degree 10 with leading coefficient as 11 and having (x — 1), (x — 2), (x = 3)....(x — 10)

as factor. then the coefficient of x” in P(x) is

1.5

L

2. 605

4.5

Lh
Ln

Options :

68634017817. 1
68634017818. 2
68634017819. 3
68634017820. 4

Question Number : 55 Question Id : 6863404500 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl P(x) °Id 10 BT TP 9gUE & forgehT UM I[01e 11 3R UAES (x— 1). (x = 2). (x - 3)...(x— 10) §. &
P(x) H x° &1 T[0T &

1255

[ R

. 605

3.—0605

4.

L
L

Options :
68634017817. 1



68634017818. 2
68634017819. 3
68634017820. 4

Question Number : 56 Question Id : 6863404501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the neighborhood of z = 1. the function f(z) has a power series expansion of the form

f@O=1+1-2+(1-2%+ . .thenf(2)is

Options :

68634017821. 1
68634017822. 2
68634017823. 3
68634017824. 4

Question Number : 56 Question Id : 6863404501 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

z=1% WAaM 8, BaH £(0) B G [AR PIFUf(2) =1 + (1 -2) + (1 -2 + ... 3. TEf(2) &

X
Z
5 |
z-2
i 1
2z-1
4.2_1
z+1
Options :

68634017821. 1
68634017822. 2
68634017823.3
68634017824. 4



Question Number : 57 Question Id : 6863404502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A rectangular box open at the top is to have volume of 32 cubic feets. The minimum outer surface area of the
box is

1. 32 sq.ft
2. 46 sq.ft
3. 44 sq.fi
4. 48 sq.fi
Options :
68634017825. 1
68634017826. 2

68634017827.3
68634017828. 4

Question Number : 57 Question Id : 6863404502 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U9 HIAOR Ya@ o [ SR U Gl ¢. B 36 32 THIe 5| g o Huan a1g g¥ig 8a%d ¢
1.2 He

[ o)

46 T e

%)

44T Be

i

48 T Fe

Options :

68634017825. 1
68634017826. 2
68634017827. 3
68634017828. 4

Question Number : 58 Question Id : 6863404503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The value of the dot product of the eigenvectors corresponding to any pair of different eigen values of a 4 = 4
symmetric positive definite matrix is

1.0

[ B}
o

4.4

Options :

68634017829. 1
68634017830. 2
68634017831. 3
68634017832. 4

Question Number : 58 Question Id : 6863404503 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 x 4 JHHT TATHS YT 3Megg & e siftenaiore 71 & ol gm & Tra sifiaaione Il &
fifg (STe) TR FTEA &

1.0

4.4

Options :

68634017829. 1
68634017830. 2
68634017831.3
68634017832. 4

Question Number : 59 Question Id : 6863404504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The matrix P is the inverse of a matrix Q. If I denotes the identity matrix. which one of the following options
1s correct?

1.PO=1Ibut OP£]

| ]

OP=Tbut PO #1
3. PO=Tand QP=1
4. PQ-QP=1I

Options :
68634017833. 1



68634017834. 2
68634017835.3
68634017836. 4

Question Number : 59 Question Id : 6863404504 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31 P U HIHG O I YobH ¢ | Tld I dHS SHTodg aial ¢ | FafaRad O ¥ &H |1 oy 95l g2
1.PO=ITRGOP =1

QP=IWRGPO=1I

3.PO=13ROP=1

[ ]

4.PQ-QP=1

Options :

68634017833. 1
68634017834. 2
68634017835. 3
68634017836. 4

Question Number : 60 Question Id : 6863404505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; (1 0y (-1 0y (i 0} = { . : e
If the matrices ‘ | | | [ ‘ and form a group with respect to matrix multiplication,
o o/lo o) lo o 0 0

then which one of the following statements about the groups, thus formed is correct?

1. The group has no element of order 4.

[ )

. The group has an element of order 3.

L]

. The group is non-abelian

1 0). . .
4. 15 1t5 OWIN INVErse,
0 0

Options :

68634017837. 1
68634017838. 2
68634017839. 3
68634017840. 4

Question Number : 60 Question Id : 6863404505 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe afragg | :Ip ::\|. \(_”' :\]_ [(:I E:\ quT [_(; EJ TR U & Hfavid U 9HE &1 &, 09 9981 &
\ £ A i /
IR T 59 UeR - Fafaf@d sy 8 3 oF 91t 981 22
1. 915 H Pig 394 4 Hifc HT16] o

2. TG T US @94 3 HIfe FTE

3. g R UdfemA g1

1

T [ 0

| ::J ST S5 1 hH B
Options :

68634017837. 1

68634017838. 2

68634017839. 3

68634017840. 4

Question Number : 61 Question Id : 6863404506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are generators of the multiplicative group {(1.2.3.4.5.6). <7} where %5 denotes
multiplication moduls 7?

1.3 and 4

3.4and 5
4.3, 4and 5

Options :

68634017841. 1
68634017842.2
68634017843. 3
68634017844. 4

Question Number : 61 Question Id : 6863404506 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FrafRad @ 3 &1 9 0TS G958 {(1.2.3.4.5.6). x;} B T (G-REIY) 82 Tal -, UNHS AT 7
RG]

1.3 3R 4
33Rs
3.4 3R 5
4.3,4 3R 5

[ R]

Options :

68634017841. 1
68634017842. 2
68634017843.3
68634017844. 4

Question Number : 62 Question Id : 6863404507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4
; iz : i “y ;
The general solution of differential equation 2 + 0y =gin

dx

3,\: 18

aiven that ¢; and ¢, are arbitrary constants)

£ 1 2 Y )
1. .

1. ¥y=q¢ 005(3,\' + '5'2} + E sinx — sin 3x

3

e + <5 i

[ ]

y=c

1. 1
3 ¥+ —sinx+ —cos 3x
17 2

Ty = 5 .
3. y=¢ +oxe +2sinx - E sin3x
4. y=g¢ sin {Sx +c, } + i sinx + —— cos 3x
g 32 24

Options :

68634017845. 1
68634017846. 2
68634017847. 3
68634017848. 4

Question Number : 62 Question Id : 6863404507 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HGHT THHI 22 L9, —gin* v BT JHI 5 &

dx*
fE g & ¢, 3R o, U5 3R T )
1. y=¢ 005(3,\' + '5'2} i ﬁ sinx — sin 3x

cro el
y=g e toe

=3

b2

1 . 1
4 —sinx+ —cos 3x
32 2

Ty - 5 .
3. y=¢ +oxe™ +2sinx — —sin3x
: 13
4, y=¢ sin (Sx + 0, } + .5 sinx + = cos 3x
" 32 24

Options :

68634017845. 1
68634017846. 2
68634017847. 3
68634017848. 4

Question Number : 63 Question Id : 6863404508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
: ! 2 ' P
The solution of (:-:2 — \6_1«‘] dx + ( Yo = ‘JE.".’ ] dy =0 is given by

1. ¥ =2xy+ »* =¢. where ¢ is and arbitrary constant

[ ]

v =323 + 37 =¢. where ¢ 1s and arbitrary constant
3. ¥ +32x+ y* = ¢ . where ¢ is and arbitrary constant
4, 3x% —f2xy + 33% = ¢. where ¢ is and arbitrary constant

Options :

68634017849. 1
68634017850. 2
68634017851. 3
68634017852. 4

Question Number : 63 Question Id : 6863404508 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(e (2 e —o o1t P T

1. 2 =By + ) =c. 61 ¢ TP U5 AR T |

| S

38y 4y = . T8I ¢ TP U9 3R T |
3 ¥ ]ﬁl’j' + _1'3 ¢ G‘ET-C wm SR % |
4. 353 _ JE.J;}-' + 3)-3 e ud® Ufss® 3R %' |
Options :
68634017849. 1
68634017850. 2

68634017851. 3
68634017852. 4

Question Number : 64 Question Id : 6863404509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The solution x; = 1. x, = 1, x3 = 0 and z = 3 to the system of equations
_Y}_ 7 5 .T2 §.3 I3 =2
_'('1 + 'TE o _"f3 =2
XI. _1('2. _'(3 1’ 0

which minimizes z =x; + 2x; + 3x3 is

1. not feasible

[ R]

. not basic
3. feasible and basic

4. basic but not feasible

Options :

68634017853. 1
68634017854.2
68634017855. 3
68634017856. 4

Question Number : 64 Question Id : 6863404509 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



.T}_.."C:. Y3:_}O

DIEA x;=1Lx,=1.x3=0 3R z=3 T z=x, + 2x, + 3x; BT GATHIBRU DA &:

1. gEHTa el
2. STYRYT (FEY) Tel
3. JHTIA U4 Herd
4. FETH TR R Tl

Options :

68634017853, 1

68634017854, 2

68634017855.3
68634017856. 4

Question Number : 65 Question Id : 6863404510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the linear mapping F: 52— 52 defined by F(x, v) = (3x + 4y 2x — 5y) and following bases of Z.%:

E={ey.e;} ={(1.0), (0. 1)} and 5= {uy. us} = {(1. 2). (2. 3)}. Then the matrix 4 representing F relative to

the basis E is;

3 4

1.

_2 _5_

"y s
2

3 0
3

.l =3

i 2
4

13 4

Options :

68634017857. 1
68634017858. 2
68634017859. 3
68634017860. 4



Question Number : 65 Question Id : 6863404510 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fgaR Sifoe & e E® v 7 22— 22 F(x 3) = B3x + 49, 23— 59) GRITRYIRG § 3R 22 %
afafad sE 1

E={ey.e;} = {(1.0). (0. 1)} AR S = {uy. up} = {(1. 2). (2. 3)}. T4 SR E & WU F DI G aTeil SHTogg
AT

3 4

1.

— _5

3 s
2

3 0
3

=2

1 2
4

|3 3

Options :

68634017857. 1
68634017858. 2
68634017859.3
68634017860. 4

Question Number : 66 Question Id : 6863404511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Inagroup G, ifa® = e, aba~! =b” for a, b € G then o(b) is equal to:

1. 30

[ o]
(5]
2

4.2

n

Options :

68634017861. 1
68634017862. 2
68634017863. 3
68634017864. 4

Question Number : 66 Question Id : 6863404511 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qfg a,be G & U TH TG G. Ha® =e. aba ' =52 8. Tl o(b) IR &

1. 30

!-—J
(%)
-

4. 25

Options :

68634017861. 1
68634017862. 2
68634017863. 3
68634017864. 4

Question Number : 67 Question Id : 6863404512 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is wrong.

1. The centre of a group G is a subgroup of G.

[

. The union of two subgroups is always a subgroup.
3. If G is a finite group and H is a subgroup of G then o(H) divides o(G).

4. HKX is a subgroup of G iff HK = KH.

Options :

68634017865. 1
68634017866. 2
68634017867. 3
68634017868. 4

Question Number : 67 Question Id : 6863404512 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[FafaREd | I oH 91 &Y Tod 82
1. 98 G 1 $5 G B SUHE eial o
&1 SUHHg! &1 Jier §ad U SUHHE gidl gl
0% G U aikfid I9E § 3R B, ¢ &1 U@ SUUHE § d o(H). o(G) B! fauiford sar 81

[ ]

LFS]

4. HK, G &1 0% JU9HE ¢ di< 3R daq af¢ HK = KH.

Options :

68634017865. 1
68634017866. 2
68634017867. 3



68634017868. 4

Question Number : 68 Question Id : 6863404513 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one of the following is wrong?
1. The set 7 of integers forms a group with respect to the usual addition of integers.
2. Let G be the set {1. —1}. Then it forms a group under multiplication

3. Set of all non-zero complex numbers forms a group under multiplication.

4. The set {} of rational numbers forms a group with respect to the usual multiplication of rational
numbers.

Options :

68634017869. 1
68634017870. 2
68634017871.3
68634017872. 4

Question Number : 68 Question Id : 6863404513 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[T ® 9 o 1 e Terd 82
. quis H¥eAT]l 1 §=Y = guifes H@Isil & WIURUI 4 & Siaiid §Hg §1dl ¢

[

[

Al G U 9= {1. -1} 8. 1 98 [UH & idild U HHg -1l |

-t TR T ity et 1 95wy 10 & idiid U 99g &-1dl g

L#%)

4. g el &1 I @ UREY T3eA1 & HIUR AUH & Sidifd 9Hg §91d1 6

Options :

68634017869. 1
68634017870. 2
68634017871. 3
68634017872. 4

Question Number : 69 Question Id : 6863404514 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If fix) satisfies the conditions of Rolle's theorem in [1. 2] and fix) is continuous in [1. 2], then j'] F'(x) dx 1s

equal to

1.4

| B
L]

4.2

Options :

68634017873. 1
68634017874.2
68634017875. 3
68634017876. 4

Question Number : 69 Question Id : 6863404514 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Ax) Il DI T & [1. 2] H TGP DRl § a1 flx) SiavTed [1, 2] § Tad 6. 99 f;'-(x) dx TR T

2
o

4.2

Options :

68634017873. 1
68634017874. 2
68634017875.3
68634017876. 4

Question Number : 70 Question Id : 6863404515 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If [ is twice differentiable function such that f"(x) = — f(x) and f'(x) = g(x). h(x) = [fl[.'r)}3 +[g{x)]: and
h(5)=11.then A(10)=

1.22

| o]
—
—_

4. 21

Options :



68634017877. 1
68634017878. 2
68634017879.3
68634017880. 4

Question Number : 70 Question Id : 6863404515 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e/ U@ f-Sa@ ey Wer SHIPRE B £7(x) = - /(x) SR £1(0) = g(0). hx) = [/ (0)f +[g()
3R p(5)=11.T8 h(10) =

1"1'1

[ ]

~11
3. 15
4. 21

Options :

68634017877. 1
68634017878. 2
68634017879. 3
68634017880. 4

Question Number : 71 Question Id : 6863404516 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

|
5 . (fa+0)
Letf: % — F be such that £(1)=3 and f'(1)=6.Then lim | *¥——=
x—) f(]:l

equals

[ ]
(]

4.1

Options :

68634017881. 1
68634017882.2
68634017883. 3
68634017884. 4

Question Number : 71 Question Id : 6863404516 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e
e /7 S RSAUPR e 1P F(1)=3 AR ' (1)=6.79 lim [%J RGP

x—) ﬂ)

[ ]
(o]

4.1

Options :

68634017881. 1
68634017882. 2
68634017883. 3
68634017884. 4

Question Number : 72 Question Id : 6863404517 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 3
: ; " = ; Ay XY
The integrating factor of the differential equation — = ——— 15

X _1:1:"

| o]

Options :

68634017885. 1
68634017886. 2
68634017887.3
68634017888. 4

Question Number : 72 Question Id : 6863404517 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[
N

Options :

68634017885. 1
68634017886. 2
68634017887. 3
68634017888. 4

Question Number : 73 Question Id : 6863404518 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The surface area of the sphere X2+ }'2 +72=09 Iying inside the eylinder X+ }'2 =3yis

1.18 (1 +2)
2.18(n-2)
3.18(m—4)
4.18 (n+4)

Options :

68634017889. 1

68634017890. 2

68634017891. 3
68634017892. 4

Question Number : 73 Question Id : 6863404518 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1.18(m + 2)
2.18(m—-2)
3.18(m—-4)
4. 18(m+4)
Options :

68634017889. 1
68634017890. 2
68634017891. 3
68634017892. 4

Question Number : 74 Question Id : 6863404519 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- - 5 g 3 2 2 2 _ ;
Let f(z)=u+iv be an analytic function, where & = x~ —3xy~ + 3x° — 3y". then the imaginary part v of

f(z) is
1. 3x2_1' + 61}'—}‘3 Fie

2 3x3_1' + fxy +}'3 Fg

? 3
Ixyt+toexy—y +e

2 3
4. 3xy—6xy—3 *e

Options :

68634017893. 1
68634017894. 2
68634017895. 3
68634017896. 4

Question Number : 74 Question Id : 6863404519 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e f(z) = u+iv U [A0NG Ba 8, 8T w=x" —3xp” +3x> —3y? 8.9/ (2) BT HIeUD T v
e
’%

2 {
1L.3xy+6xy—) +ec

[ )

. ’

Axy+éxyty te
, .

3.xy+oxy—y +e

2 3
4. Ixy—6xy—y +e¢



Options :

68634017893. 1
68634017894. 2
68634017895. 3
68634017896. 4

Question Number : 75 Question Id : 6863404520 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2 3 4 5 6),
is
2 4 6 51 3

The order of the permutation [

[
| G

4.8

Options :

68634017897. 1
68634017898. 2
68634017899. 3
68634017900. 4

Question Number : 75 Question Id : 6863404520 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2345 6) 0ans
24 6 513
1.1
3.4
4.8
Options :

68634017897. 1
68634017898. 2
68634017899. 3
68634017900. 4

Question Number : 76 Question Id : 6863404521 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=2 5 =3

If Ay Ao, A3 are the eigen values of the matrix | 2 1 —6 /. then 2y + Ay2 + A3% is equal to
-1 =2 0
1.45
2.40
3. 34
4. 43
Options :

68634017901. 1
68634017902. 2
68634017903. 3
68634017904. 4

Question Number : 76 Question Id : 6863404521 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=2 2 =3
| 2 1 6| B ANAD T Ay, do. 13 B, A6 42 + 0,2 + 02 TWER &
-1 =2 0
1.45
2.40
3.34
4.43

Options :

68634017901. 1
68634017902. 2
68634017903. 3
68634017904. 4

Question Number : 77 Question Id : 6863404522 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The minimum distance of the point (3. 4. 12) from the sphere X2+ }'2 +72=11is

1. 14

b2

.16
3.12
4. 10

Options :



68634017905. 1
68634017906. 2
68634017907. 3
68634017908. 4

Question Number : 77 Question Id : 6863404522 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g (3. 4. 12)FIMAL+ 2+ 2= 1 FFman g &

1. 14

| B

16
3.12
4. 10

Options :

68634017905. 1
68634017906. 2
68634017907. 3
68634017908. 4

Question Number : 78 Question Id : 6863404523 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iz expanded in the region |z] < 1, then

It f(z)=

h;2—3z+2

2 f[z]:—+§:+5: +I_‘iz +
1.3z 7 15 4
3 f{z}_5+—+a:2+—gv -
1 3z 69 153
4 Zy=d—r =g gt
/) Z. & 11
Options :

68634017909. 1
68634017910. 2
68634017911. 3
68634017912. 4

Question Number : 78 Question Id : 6863404523 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e f(z)=——— 8 |z| <1 HuEIRA &, a8

:-2 -3z+2

Options :

68634017909. 1
68634017910. 2
68634017911. 3
68634017912. 4

Question Number : 79 Question Id : 6863404524 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Re(z) i
The function f(z) defined by [ (z] = z then which one of the following is true?
0, z=0

1. lim f{Z} exists
z— 0

2. f(z) is continuous at z =0

LoS]

. f(z) is differentiable everywhere

=

.f(z) 18 not continuous atz =10

Options :

68634017913. 1
68634017914. 2
68634017915.3
68634017916. 4

Question Number : 79 Question Id : 6863404524 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Re(z)
BESOB f(2)=1 =z 270 & uiuifid rar o &, oe Rk 4 4 o a2

1. lim f(z) fagmg |

z—= 0

2.f(2).z=0RIAAE |

3. f(z) T T R EH g R |
4.f(Z),z=0RAad T8l ¢ |

Options :

68634017913. 1
68634017914. 2
68634017915. 3
68634017916. 4

Question Number : 80 Question Id : 6863404525 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The volume generated by the revolution of the cardiod r = a(l — cos8) about x-axis is

. 8na®
3

| ]

. 8ma

Ama’
3

4. 4na’

Options :

68634017917. 1
68634017918. 2
68634017919. 3
68634017920. 4

Question Number : 80 Question Id : 6863404525 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-8 T TRT AR BUSATEE 7 = a(1 — cosd) P TRGH GRT ST AT &

1 3mr3

3

!.J
x
w1

4. 4na’

Options :

68634017917. 1
68634017918. 2
68634017919. 3
68634017920. 4

Question Number : 81 Question Id : 6863404526 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

.. 2
SINTLZz™ + COSTM=~ : . bl .
dz , where C is the circle [z] = 3 is

The value of J

I G-0E-2)

| B
[rs]
=
=

4. m

Options :

68634017921.
68634017922.
68634017923.
68634017924.

AW N~

Question Number : 81 Question Id : 6863404526 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



J‘ ‘?II'IT[Z + COQI[Z

e-2) dz SBIC:|z|=3TH qU 5. PIHHA &

| ]

. 8m
3. 2m
4. T

Options :

68634017921. 1
68634017922. 2
68634017923.3
68634017924. 4

Question Number : 82 Question Id : 6863404527 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥ 2 I 3
4

%)

The given series -

1.3

+ .o - [(x=0) 18 convergent in the interval

1. [1, o)

[

(1, %)
3.(0. 1]
4.[0.1)

Options :

68634017925. 1
68634017926. 2
68634017927. 3
68634017928. 4

Question Number : 82 Question Id : 6863404527 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e St o (x> 0) T siqwra 7 siftrardt &
13 24 35
1. [1. =)
2. (L. %)
3.(0. 1]



Options :

68634017925. 1
68634017926. 2
68634017927. 3
68634017928. 4

Question Number : 83 Question Id : 6863404528 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following is not correct?

1. The set of limit points of a bounded sequence is bounded.

2. A bounded sequence with a unique limit point is convergent.

3. The limit points of the sequence (2 + {-wl]”) are 1 and 2.

4. The limit points of the sequence ((—I)”} are—1 and 1.

Options :

68634017929. 1
68634017930. 2
68634017931. 3
68634017932. 4

Question Number : 83 Question Id : 6863404528 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad @ 9 o w1 e w8l 18l 82
1. U6 URES oA & i fag &1 9g=9g IS g
2. Hfgla dim fag &t uRas sy SiiaRi g

3. 313t (24 (-1)") B g Lau2 @

4. HW<{—I]"> PIdmfag -1 qur1 @

Options :

68634017929. 1
68634017930. 2
68634017931. 3
68634017932. 4

Question Number : 84 Question Id : 6863404529 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=3x 0‘
¢ .where D=L s
X Ele'

The general solution of (!}2 +6D+ 9]_1: =

(given that ¢; and ¢, are arbitrary constants)

=3x
a [C
L gp= ({’l +c.-2x)e 3x 4
2x
3x
-
Zoy= (cl +-:*?x)e3"‘ -
“ 2x
—3x
e
3 'l:(L +e, 2% | 2% 4
L >
i eﬁ.r
4 Jv=(|:.'.[ +Lﬁx)c e
2x

Options :

68634017933. 1
68634017934. 2
68634017935.3
68634017936. 4

Question Number : 84 Question Id : 6863404529 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 —3x

— T B e p=? %

X dx

(0’3 +6D+Q)_u =

fea Mg & ¢, 3R ¢, U5 SR B 1)

_ e %
1. y:(cl +c.'2x)e 3x
2x
>
7 Ix., £
2. y=|g +eyx)e’t +—
y=(e +epx) =
—3x
Ay €
3. 1':(::] +c2x2)e S .
' 2

L d s e'
4. y= (r_rl f r_'zx) e a + 5
X

Options :

68634017933. 1
68634017934. 2
68634017935. 3
68634017936. 4



Question Number : 85 Question Id : 6863404530 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If F=2zi— Xj + vk and ¥V is the region bounded by the surfacex=0.y=0.x=2.y=4,z= x%.z=2. then

value of HJ FdV is
I

1. f—i[s_hﬂ}]

.55[3?—52]
15

3. 22 (57 + 3#)

[ R

3202 on
4. E{SJ +5_,r)

Options :

68634017937. 1
68634017938.2
68634017939. 3
68634017940. 4

Question Number : 85 Question Id : 6863404530 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e F:Zz;—.l_“;-i—}:_.’; LR I"qu=(}.}.-=0.x=2.}‘=4.Z=.\’2.z=2§mq dG %ﬁ%ﬂaﬂdeP Pl
V

I &-
7y R
1 E(’;_;+5k]
2 53[3?75$]
15
: S
3 E[SJ‘FJ’)
f—S(:shﬁ_})
Options :

68634017937. 1
68634017938. 2
68634017939.3



68634017940. 4

Question Number : 86 Question Id : 6863404531 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
pL 5 ) . - : 2 ; | '
If F'=y~i+xyj+xzk and C is the bounding curve of the hemisphere x* + % + z2 =9, z > 0. oriented in

the positive direction, then value of j F-dr is
C

1.0

Options :

68634017941. 1
68634017942. 2
68634017943. 3
68634017944. 4

Question Number : 86 Question Id : 6863404531 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg F=y2i+x +xzk qu et 2«32 + 2 =0, 2> 0 b1 Hieb o &, Rrget s

YT G H 8. a9 jF-cfr’ HTAAT:
5

1.0

[
[

3.1
4.2

Options :

68634017941. 1
68634017942.2
68634017943. 3
68634017944. 4

Question Number : 87 Question Id : 6863404532 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If W is a subspace of 72 . where W= {{a. b. ¢): a+ b+ ¢=0}, then dim J¥ iz equal to

1.2

]
5]

4.0

Options :

68634017945. 1
68634017946. 2
68634017947. 3
68634017948. 4

Question Number : 87 Question Id : 6863404532 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe 23 PIIU-TAR W 6T = {(a. b. ¢): @+ b+ ¢ = 0}, T dim W TI&X &

1.2

b
LS ]

4.0

Options :

68634017945. 1
68634017946. 2
68634017947. 3
68634017948. 4

Question Number : 88 Question Id : 6863404533 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The dimension of the general solution space ¥ of the homogeneous system
xq+2x5—3x3+2x4 —4x5=0
2xy Tdxy; —5x3 t x4 —Ox5=0
Sxp +10x; — 13x3 +4x4 — 16x5=0

1.2

2
[¥¥)



Options :

68634017949. 1
68634017950. 2
68634017951. 3
68634017952. 4

Question Number : 88 Question Id : 6863404533 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T T & e g9 31 famnE -
Xyt 2x5—3x3+2x4 —4x5=0
2x; +4x5 —5x3 tx4 —6x5 =0

5.Y1 By 101’2 = 133(3 oE 4'{—@ - lﬁxi =0

2
L¥N]

4.

h

Options :

68634017949. 1
68634017950. 2
68634017951. 3
68634017952. 4

Question Number : 89 Question Id : 6863404534 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let F : 23— 22 be the linear map defined by F(x, 1, z) = (3x + 2y — 4z, x — 5y + 3z). The basis of 23 is § and
basis of 3.2 is S'. where 5= (1,1, 1).(1, 1, 0), (1, 0, 0)} and §' = {(1. 3). (2. 5)}. Then the matrix of F in the
bases of 7. and 2% is

[—7 33 -13]
4 19 8

> =7 =33 8}

13 15 13
[T 4
3.0-33 19
| 13 18

=7 13 =33
4 18 9



Options :

68634017953. 1
68634017954.2
68634017955. 3
68634017956. 4

Question Number : 89 Question Id : 6863404534 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OFF 23 22308 @ Ui § 9 Flx, 3, 2) = (Bx + 2y — 4z, x — 5y + 32) G URYING 51 23 &1 3MUR S
TUI 22 FT YR $ 8. 981 S = {(1, 1. 1), (1. 1, 0), (1. 0. 0)} TUT 5" = {(1, 3). (2. 5)}. 9 =3 TUT 22 & MR
o F 1 3133 &-

1 -7 -33 -13]
14 19 8|
5 -7 -33 8§

|3 15 -13

[-7 4
3.|1-33 19

| 13 18

(-7 13 3%
4.

4 18 9

Options :

68634017953. 1
68634017954. 2
68634017955. 3
68634017956. 4

Question Number : 90 Question Id : 6863404535 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

12 0 -l
If 4A={2 6 -3 -3| .then which one of the following is true?
3 10 -6 -5
1.Rank (A)=4

2. Rank (A)=3

3. Rank (A)=2

4. Rank (A)=1
Options :

68634017957. 1
68634017958. 2



68634017959. 3
68634017960. 4

Question Number : 90 Question Id : 6863404535 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2 0 I
e 4=|2 6 -3 -3| e defERTddsTaas

3 10 -6 -5

1. PIfc (A)=4
2. I (A)=3
3.@ifd (A)=2
4. PIE(A) =1

Options :

68634017957. 1
68634017958. 2
68634017959. 3
68634017960. 4

Question Number : 91 Question Id : 6863404536 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

< , l T
3,6

: dy . :
If the solutionof x—+ y=x is =y + C.thenvalue of o+ + v is
dx |_1.=U"xB 2x

b2

.10
3015
4. 20

Options :

68634017961. 1
68634017962. 2
68634017963. 3
68634017964 4

Question Number : 91 Question Id : 6863404536 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qﬁx%+)':x3y6 BIET — =Lt CR. T+ oy FIAAE-

4.20

Options :

68634017961. 1
68634017962. 2
68634017963. 3
68634017964. 4

Question Number : 92 Question Id : 6863404537 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d’y  dy .
2 —Zx;l—-ﬂf)-‘:x“l.rl

If x2
dx? dx

1en particular integral (P.I) of the given differential equation is

L X ('4);‘

5

| ]

L 4, .
-gx log x

3 xedX

4

L..&
4 —x”logx
1 g

Options :

68634017965. 1
68634017966. 2
68634017967. 3
68634017968. 4

Question Number : 92 Question Id : 6863404537 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



L ) .
aft f\.z"v”_-‘_ng;‘_%.-:x“* R, 79 €1 7 s d TR0l o ARy S -
-

dx?
| % L;‘ix
5
2. -I-x'ﬂ' log x
3
3 J_.E_,S.T
4
L .8
4. —x"logx
4
Options :

68634017965. 1
68634017966. 2
68634017967. 3
68634017968. 4

Question Number : 93 Question Id : 6863404538 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[—-. x20,v=0
If f: 52— 22 is a function defined as f (x,y)= \ X2 +)”
1 . x=0,y=0

then. which of the following is correct?

[

. f(x, ¥) is continuous at origin.

| ]

. f(x, ¥) 18 differentiable at origin.

lim X V) existenndi >
3. (x.9)00.0) S(x,)) exists and is equal to 2.

4. f(x, ¥) 1s not continuous at origin.

Options :

68634017969. 1
68634017970. 2
68634017971. 3
68634017972. 4

Question Number : 93 Question Id : 6863404538 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. x 0, v=0 i
Al f: 22 E2UB B g ol £ (x.) = a2 +° T Qo . el Ao a8 2

2, x=0,vy=0

1. f(x, y) Haileg W 9ad ol
2. f(x, v) A R aHad gl

3. lim f(x,y) fGemm g qur 2 & R

C{x,¥)—=(0,0)"

4. f (x, y) HAlleg OR Idd Tl o

Options :

68634017969. 1
68634017970. 2
68634017971. 3
68634017972. 4

Question Number : 94 Question Id : 6863404539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- X+ v € .
If u=cos | —— | . then the value of xﬁri + vi 18
X +\E dx T dy
]
1. —cotu
2
|
2. ——cotu
2
|
3. ——tanu
2
1
4. —tanu
2
Options :

68634017973. 1
68634017974. 2
68634017975.3
68634017976. 4

Question Number : 94 Question Id : 6863404539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o
o I[rij a2,
VX LY ox dy

1
1. —cotu
2
|
2. ——cotu
2
1
3. ——tanu
2

]
4. —tanu
2

Options :

68634017973. 1
68634017974.2
68634017975. 3
68634017976. 4

Question Number : 95 Question Id : 6863404540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The extreme points of the set {{x )il =2,y < 2} are

1.0, 0), (2, 2)

]

L DN 2N D 2 D)
. 06 1 W 0 DO 5 (W
P o) i s o S 1 )

Options :

68634017977. 1
68634017978. 2
68634017979. 3
68634017980. 4

Question Number : 95 Question Id : 6863404540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T {(x, y); | <2,y <2} ISR RS

1.(0.0). (2. 2)

| 5]

AL 1), (2:2), (1 =102 2)
3.1 (-1, 1), (-1.-1). (1. -1)
4, (2.2). (2. 2), (2. -2} (2. -2)

Options :

68634017977. 1

68634017978.2

68634017979.3
68634017980. 4

Question Number : 96 Question Id : 6863404541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The point (—1. 2. 7. 6) lies in which of the following half spaces corresponding to hyperplane

E.TI g 5.'(2_'—11’3 A 5x4=6

1. 2x1+5_‘63—4x3+_‘7x4{16

[ o]

£ 3.‘(]‘__ + 5.¥: _'—1-."(3 i 5].'4 :3’6
3. 2xy + 3x +4xg + 5x4 <62
4. 2.‘(}_ z o .3.'(2 _'—1-_1(3 + f!x4 =62

Options :

68634017981. 1

68634017982. 2

68634017983. 3
68634017984. 4

Question Number : 96 Question Id : 6863404541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ (-1. 2. 7. 6) FAfaRad O 9 &1 9 3¢l guf® & o=y sfteaa o fqumH g2

2.'{'}__:3_'{'2 _4.'['3 +_:‘.T4=6

1. 2'\’:1_3'(': _4'('3 +_:'_T4{:5
2. Z.TE_:S.'CE _4."('3 +5x4'>6
3. 2.‘(1_:.3.'{'2 _4.1'3 +5.T4{:'62

4, ZX}_'LS_TE _—11'3 +:-‘-‘X4::"62



Options :

68634017981. 1
68634017982.2
68634017983. 3
68634017984. 4

Question Number : 97 Question Id : 6863404542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H—0

3y ay (
The value of lim %k;] LE ”+w is

| B
fen]

Options :

68634017985. 1
68634017986. 2
68634017987. 3
68634017988. 4

Question Number : 97 Question Id : 6863404542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[
L]

Y
EJ

Options :

68634017985. 1
68634017986. 2
68634017987. 3
68634017988. 4



Question Number : 98 Question Id : 6863404543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The orthogonal trajectories of the family of curves v = ax® is

]

L2x2+ 3% =¢

o

| ]
..<
i
|
%]
famt
i
Il

Options :

68634017989. 1
68634017990. 2
68634017991. 3
68634017992. 4

Question Number : 98 Question Id : 6863404543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T y = ax’ B IRAR P AGHIUNT Hegl &1 9Y §:

7 2
1.2x+ 3y =¢

| ]
,..<
b
|
e
=
[
Il

Options :

68634017989. 1
68634017990. 2
68634017991. 3
68634017992. 4

Question Number : 99 Question Id : 6863404544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( .l )!i‘ ;
The sequence - 15

1. oscillatory sequence
2. divergent sequence
3. either Cauchy or convergent sequence
4. both Cauchy and convergent
Options :
68634017993. 1
68634017994. 2

68634017995. 3
68634017996. 4

Question Number : 99 Question Id : 6863404544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

n

1. gl 3 H
2. HUERT 35T

3. ATl HIRT A1 SUART 3 H

4. BIRf TUT SUGRL ST

Options :

68634017993. 1
68634017994. 2
68634017995. 3
68634017996. 4

Question Number : 100 Question Id : 6863404545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



With the help of suitable transform of the independent variable, the differential equation

2., ;
x.c.f_:l'. i _{?.h..‘ —b6x+ l reduces to the form:
de? o v

L ——+2—=—=6e" +1
dr* d
d*y dy

2. —j}—+f_}_‘6 2 41
a"r- dlll
2.,

3. d—;=6e"+lngf
dt
2.,

4. d—'\:t&e* +t
df

Options :

68634017997. 1
68634017998. 2
68634017999. 3
68634018000. 4

Question Number : 100 Question Id : 6863404545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 : :
Wad IR P Yol = Yidiv] Pl Hag 3, Pl GHIH0 xi*'_.g.iJr%r‘f};:ﬁHl & T B+ &
X

dx”
d? dy
1 £ 2.0 . p 2
dr* dt

[
S
2
St
|
I
o)
o
ta

2
d- v
3 —2} = 6" +log1
dr
5
dy
4. —==6¢' +1t
dt”
Options :

68634017997. 1
68634017998. 2
68634017999. 3
68634018000. 4



